1966

1970 30cm



35 40

45
100
11
202.5 13.8 | 187.9 88.3 | 136.2 84.1 | 128.7 85.0 | 124.6 75.8
183.0 59| 172.2 79.7 | 139.5 88.1 | 125.6 85.8 | 117.3 75.0
179.4 158 178.5 90.8 | 134.5 91.6 | 126.4 88.4 | 124.0 74.6
186.5 46.9 | 198.7 94.6 | 144.0 85.0 [ 136.1 87.4 | 137.7 80.4
187.3 32.9| 189.8 87.8 | 135.8 84.6 | 130.6 84.9 | 125.1 71.3
189.2 449 190.0 92.1 | 141.7 88.2 | 1225 83.8 | 116.3 73.3
cm
41 42
5.9

13.8 15.8
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7.2 8.1
15 100 103
1970

1972

1970

1970

1966

59 6.2
4 8 16
11 2 9
52 10 13



